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int items, price[ 100];//4 3k 4% 2L

it findnum (int 1, int num) {
if (i < items) {
if (num < price[i])
num = price[i];
num = findnum (i+1, num);
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refurn num;

}

it main () {
mt 1, num;
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scanf("%d", &items);
for (1=0; i<items; 1++)

scanf ("%d", &price[i]);
num = findnum (0, -1);
printf ("The ... 1s %d'n", num);
retum 0;
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void convert (long m) {

long count=-1, n=0;

while (0 <m) {
n=n*10 + m%?2;
m=m/2;
count++;
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while (0 < count) {
printf ("%ld", n%10);
n=n/10;
count--;
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printf ("%ld", n%10);
return;

}

int main() {
long m;

scanf("%ld",&m);
printf(" The ... value 1s ");
convert (m):

printf ("n");

return 0;
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int findnum (int 1, int num) {
for(;i<items;1++){
if (num < price[i])
num = price[i];
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return num;
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void convert (long m) {
1f(m==0){
printf("0");
return;
Jelse{
convert(m/2);
printf("%d", m%?2);
1
}
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<form method="post" enctype="multipart/form-
data" action="upload.php">
<input type="file" name="to be uploaded">
<input type="submit" value="Upload">
</form>
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.?>

ST

) (class) /& —T B ETHUM SR AU BRI BURE - 71 (interface) /2 bR Bk 5 R B & A E BN BHIYRIIR
$ > H T (subclass) B IE L/ TR B F e BN A « EHPHP Webfes » FENEHE » S
HERPHP L EASZEThAE - (R B EE L HZORN =(HER - (DM LEEEELETFE?

Ehot | (S - EAEEtERR) B0 SRV 4R > H165-166 ~ 207 -

:

(—)

class:

EEENE

ATEHHE

"EIES A

interface:
AEEBEFEFEER)
N EHHE
AEEEITE

() LEREFEE G ? QUREEMETEERIHH T - HEEHIE —EAER - st A= -




(<)
<?php
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ScurrentDirectory = getcwd();

SuploadDirectory = "/uploads/";

$fileName = $_FILES['to_be_uploaded]['name'];

$uploadPath = $currentDirectory . $uploadDirectory . basename($fileName);

$fileTmpName =$ FILES['to_be_uploaded’]['tmp_name';

SuploadOk = true;

if (isset($_POST['submit])) {

if (file_exists($uploadPath)) {

}

echo "Sorry, file already exists.";
$uploadOk = false;

if($uploadOk){
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$didUpload = move_uploaded_file($fileTmpName, $uploadPath);
if ($didUpload) {
echo "The file " . basename($fileName) . " has been uploaded";

}else {

echo "An error occurred. Please contact the administrator.";
}
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2. BfREECIE S (dynamic memory allocation)
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#include <stdio.h>

mta[l01],n; / % %5TH 100 REHFEZAHH  BELEHMHnTkF

int best case () {

-

int worst case () {

:

int main () {
scant ("%d", &n);
for (1=0; i<n; i++)
scant ("%d", a[i]);
printf ("Best case: %d points'n", best case());
printf ("Worst case: %d points\n", worst_case());
return 0;
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int best_case () {
nt 1,j,item,data,fee,x[101];
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for(i=0;1<n;1++)
x[i]=ali];
// sort small to large
for(i=1; i<n; 1++){
item=x[1];
for(j=i-1; j>=0; j--){
f(x[j]>1tem){
x[+11=x[3];
Jelsef
x[j+1]=item;
break;

}

}
if(j<0) x[0]=item;

for(i=n-1;1>0;1--){
fee=(x[1-1]%10==07x[1-1]/10:x[1-1]/10+1);
data=x[1]+x[i-1]-fee;

/[ insert data

for(j=1-2; j>=0; j--){

if(x[j]>data){
x[+1]=x[1l;
Jelsef
x[j+1]=data;
break;
}
1
1f(5<0) x[0]=data;
}
return data;
}
(=)

int worst_case() {
int 1,j,item,data=0,fee,x[101];

for(i=0;1<n;i++)
x[i]=a[il;
// sort large to small
for(i=1; i<n; 1++){
item=x[1];
for(j=i-1; >=0; j--){
if(x[j]<item){
x[+11=x[3l;
else{
x[j+1]=item;
break;
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1f(5<0) x[0]=item;
}

for(i=n-1;1>0;1--){
fee=(x[1]%10==07x[1]/10:x[1]/10+1);
data=x[1]+x[i-1]-fee;
/[ insert data
for(j=1-2; >=0; j--){

if(x[j]<data){
x[H11=x[jl;
Jelsef
x[j+1]=data;
break;
}
}
if(j<0) x[0]=data;
}

return data;



